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ПОРЯДОК ДЕЙСТВИЙ



уравнение
20-х=9                                                                                                                                                           
Х=20-9                                                                                                                                                                
Х=11                                                                                                                                                           
20-11=9

Х- 8=9                                                                                                                                                           
Х=8+9                                                                                                                                                                
Х=17                                                                                                                                                           
17-8=9

6+х=9                                                                                                                                                           
Х=9-6                                                                                                                                                                
Х=3                                                                                                                                                          
6+3=9

3*х=9                                                                                                                                                           
Х=9:3                                                                                                                                                                
Х=3                                                                                                                                                          
3*3=9

18:х=9                                                                                                                                                           
Х=18:9                                                                                                                                                                
Х=2                                                                                                                                                          
18:2=9

Х:3=9                                                                                                                                                           
Х=9*3                                                                                                                                                                
Х=27                                                                                                                                                          
27:3=9



ПЛОЩАДЬ И ПЕРИМЕТР

S = A  x  B
ПЕРИМЕТР 
КВАДРАТАP = A x 4

ПЕРИМЕТР  
ПРЯМОУГОЛЬНИКА
Р= ( а + б ) х 
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